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4321
M.A. (Previous) Examination, 2017

ECONOMICS
Paper—|
(Micro-Economics Analysis)

Time ;: Three Hours
Maximum Marks : 100

PART - A (@US-37) [Marks : 20
Answef all questions (50 words each).
All questions carry equal marks.
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PART - B (@vs-9 ) [Marks : 50
Answer five questions (250 words each).

Selecting one from each unit. All questions carry equal marks.
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PART - C (@UE-H) [Marks : 30

Answer any Aro questions (300 words cach).
All questions carry equal marks.
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PART - A

({ =@u=-ar)

1. Answer all questions :

qﬁm?—%'ﬂ'ﬁ?aﬁlﬁq :
UNIT -1
(5FTE-1)
(1) What do vou mean by price elasticity of supply ?

(ii)

(il )

Define economic madel.

Ao Ryl (miee) F wfsmfug @t
UNIT - 11
(FTE-11)

Write any two characteristics of isoquants.

FHIIE ] o7 &1 <1 Fergoand faafiany |
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(iv) What is excess capacity ?
ATTS &7 0 B 87
UNIT - 11}
(g3-111)
(v ) Whatis full cost price ?
Pulsisiearnic i
(vi) What do you mean by scarcily rent ?
A T | Y ¥ 99 B 7
UNIT - IV
(FHTE-1V)
( vii ) What is social welfare function ?
TSI wodTol Wl R 8 7

( viii ) Define general equilibrium.

W [ &1 gy Fifea )
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UNIT - Vv
(FHhE-V)

(ix)  Whatis an efficient portfolio ?
U FId TR 7 %2

(x) Whatis risk-pooling ?

(Tvs-)
UNIT -1
(gE-1)
2. (i)  Whatis price effect ?
()  Explain the slutsky approach to decompose the price
effect into income and substitution effect for normal

goods. 2+8
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(i)  IEd AYE R0
(i) Hmmaﬁaﬁ%amﬁmamaﬁmwaqﬂﬁmm
umﬁﬁuﬁawﬁﬁumwma
OR ( 31gar)
3. (i) Whatdo you mean by income elasticity of demand 7 1
(1)  Explain various methods to measure the income

elasticity of demand. 9
() T E AT ¥ A e T
(if) ﬁﬁma‘maﬁuﬁﬁﬁﬁm%ﬁﬁf%aﬁ?ﬁﬁm
UNIT - 11
(3®E-11)
4. (i} Explain the characteristics of market under monopolistic

competition. 4
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(1)

(it)

(i)

(i)

(i)

Explain Chamberlin's group equilibrium theory with open
entry of firms in long run. 6
T HeRTIeT Siaeyl arer i fasianati o6 quiE it
SR ¥ W wqe fea # =en w6 ¥ g
vaw =1 feafq § S o i

OR ( 379r@T )

3]

What do you mean by returns to scale ?
Explain the three la;vs of returns to scale with reasoﬁs
of their applicability. 8
M F fawe ¥ 9 = T § 2

Yo & ufawell & T fEH T e e AT

% HRUN & HY HIfFT
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UNIT - 11T
($TE-11 )
6. Write the manager's utility function given by Williamson and
explain how it is maximiced. 2+8
OR ( &eraT)
7. Lxplain the modern theory of determination of rent. i0
T e % syfr fagra s wifm )
UNIT - IV
(3FTE-1V)
8. Expiain the compensation principle developed by Kaldor and

Hicks, 10

WmemﬁmﬁWfﬂmﬁmﬁm;
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OR ( 3794t )
9. FExplain the trade-off between efficicney and equity. How the
conflict between efficiency and equily can be reconciled ?
46

s @i gWe (=gprEatd) & drs wew fafTeE e e

Byl

5 ) 2 | weE ¥ T T w1 weE FY e e 82

UNIT -V

(gE-V)
10. What is an asvmmetric information. Explain the theory of
asymmetric information. 2+8
o
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OR ( 319ar)

11. Explain the main problems faced by insurance companies. 10
P wEtE g WA Y S el qen geeel @ al
FHif |

PART - C
(Tuz-7)
UNIT -1
(FhTg-1)

12. (i)  Explain the statement "Choice reveals the preference”.

(i)  Explain the how of demand with the help of revealed

preference theorem. 10
(i) Derive the demand curve with the help of revealed

preference theory. 5
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(i) 39 FA *l e Fvg ' Twe afueE sgEfi (vwe)

FTE"

(i) IgEfed (wahfea) Sfuam fogr #t wema @ 9 =
fram w1 i

(i) IgEfen (wehiea) Afimm fogm & = =% =1 =gafy

Hifqu |
UNIT - 11
(FT3-11)
13. Explain the following :
(1)  Kinked demand curve model of oligopoly. 10

(i)  Price leadership by dominant firm under collusive
oligopoly. 10

1 ! SITE R

() srefuysr @ fagfaa (dser) @ o Hisa |

(i) Efed sTeaTfusER F1 TUM B R F14d A9 Hise |
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14. (i)

(i)

15. (i)

(in)

UNIT - III
(gerTE-111)
Explain the Bain's theory of limit pricing.
Explain sylos postulate about the behaviour pattern of

established firms. 15+5
=9 o |91 s frui fagra =1 samen wifag )
wfa ®H % EER WEY & ey § gRew @ig
THIT T AT Wi |

UNIT - IV

(3T-1V)
What is Pareto optimality ?
State and explain the marginal conditions of Pareto

optimality.
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(i)  Are these conditions sufficient for the maximum social
welfare ? 241246
() TR S weH = E?
() W EET H WA 6 B SqET § e w1
(i) A v Hfwan gl FHeamor & faw gty 22
UNIT -V
(¥T-V)
16. Explain how an efficient portfolio is selected according to

Markowitz portfolio theory. 20

T 2y Wewifed (Favmet) =1 99 neifaes oewf fagra

¥ foFm v foran 9man 7 =mem Fif
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